LL(1) Parse Table Driver: 
// push(x) pushes x on to the parse stack

// top() returns the top element of the parse stack without pop

// replace(Z) replaces the top symbol on the stack with list of 

//
symbols Z

// match() matches to top nonterminal on the stack against the 

//
lookahead and reloads the lookahead

// M[n][t] is the parse table

void parse() {


push(EOF);


push(Starttype);


while(top() != EOF && Token.type != EOF) {



if (terminal(top())) match();



else if (nonterminal(top()) && 




M[top()][Token.type] != EMPTY)





replace(M[top()][Token.type]);



else error();


}


if (top() != EOF || Token.type != EOF) error();

}

Computing First, Nullable, and Follow:

// RHS(S) returns the right-hand side of rule S

// LHS(S) returns the left-hand side of rule S

// after((,() returns everything after the string ( in string (
// isStartSymbol(A) returns true if A is the start symbol

// beginning(() returns the first symbol in string (
// restof(() returns everything after the first symbol in (
// terminal(A) returns true if A is a terminal symbol

// Rules is the set of grammar rules

First(()


if ((=()return {(}


else if (terminal(beginning(())



return {beginning(()}


else



union = {}



nullable = false



for (S(Rules)




if (LHS(S) = beginning(())





union = union ( (First(RHS(S))- {(})





if (( ( First(RHS(S))) nullable = true



if (nullable) union = union ( (First(restof(())



return union

nullable(() 


Return (( ( First(())

Follow(A)


union = {}


if (isStartSymbol(A)) union = {$}


for (S(Rules)



if (A ( RHS(S))




union = union ( (First(after(A,RHS(S))) - {(})




if (nullable(after(A,RHS(S))) && LHS(S)!=A)





union = union ( Follow(LHS(S))


return (union)

Predict(S)


if (nullable(RHS(S))



return (First(RHS(S)) - {(}) ( Follow(LHS(S))


else return First(RHS(S))

Bitter example:

1
<prog> ::= _start <slist> _stop  
2
<slist> ::= <stat> \| <stail>

3
<stail> ::= <stat> \| <stail>

4
<stail> ::=  (
5
<stat> ::= <ID> = <exp> 
6
<stat> ::= _clear \( <idlist> \) 
7
<exp> ::= <atom> <exprtail>

8
<exprtail> ::= + <atom> <exprtail>

9
<exprtail> ::=  (
10
<atom> ::= - <atom>  

11
<atom> ::=  \( <exp> \) 

12
<atom> ::=  <ID> 

13
<atom> ::= <STRING>

14
<idlist> ::= <ID> <idtail>

15
<idtail> ::= , <ID> <idtail>

16
<idtail> ::= (
First and Follow Sets:

	
	First
	Follow

	prog
	_start
	$

	slist
	<ID>, _clear
	_stop

	stail
	<ID>, _clear, (
	_stop

	stat
	<ID>, _clear
	|

	expr
	-, (, <ID>, <STRING>
	|, )

	exprtail
	+, (
	|, )

	atom
	-, (, <ID>, <STRING>
	+, |, )

	idlist
	<ID>
	)

	idtail
	\, , (
	)


Predict Set:

	Rule
	Predict

	1
	_start

	2
	<ID>, _clear

	3
	<ID>, _clear

	4
	_stop

	5
	<ID>

	6
	_clear

	7
	-, (, <ID>, <STRING>

	8
	+

	9
	|, )

	10
	-

	11
	(

	12
	<ID>

	13
	<STRING>

	14
	<ID>

	15
	\,

	16
	)
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